#3 (20 ) 2001. 11. 27.
1[4 ] f(t) Laplace F(s)
(@f@) =e'
(b) f(t) =t sin2t
2.4 ] H(t)
H (t) :{o t<0
1 t>20
(a) f(t)
f(t
2,
1 2 3 t
(b) f(t) F(s)
3.4 ] y(t) Laplace

vy = 1- t- 4f(t- Iy e

4.4 ] Laplace X (s)
. 25+1
X(s) = s(s+2)°
(@) X (s)
(b) X (s) Laplace X (t)
L{sin at} = szf 22
_ s
L{cos at} = )
t" . 1
L{F} = e 1
aty _ 1
L{e"} = s- a
5[4 ] y(t) Laplace

y'" +25y =29 (t-t), y(0) =0,y'(0) =2

(30 ) 2001. 12. 20.
1[4 ] [-1T 1]
f(x) =cosx, g(X) =cos
(@)
(b) g(x) (norm)
2[6 ]

@) (Bessel) (self- adjoint)
Xzy.. + Xy + (Xz_ Vz)y = 0
() - (Sturm-Liouville)
. A .
y*+Ay =0 y'(0) =0y(m)=0

3.5 ] [a.b]
P(x)y ()" + A y(x) =0
y(@) =0, y(b) =0
Am An
ym (x), yn(x)
416 ]
(Fourier) oK)
(- <x<m
2
f(x) = 1+% ) / P )
-3m - ‘ Tt 3n
5[5 1 (Fourier)
[0 ] f(x)
fe(x) , f(x)
f(X)Tx (0<x<T/2) /2
T -X (Tr/2<x<Tr)_T[ TR

(Fourier)

f(x) = fom[a(ﬂ)cosﬂx + b(A) sin Ax] dA

a(d) = —if_if(x)cosﬂx dx
b(A) = %f_if(x)sinﬂx dx
6.[4 ] (Fourier) (sine)
f(x) = x (-1<x<1)
0 (x<-1,x>1)



